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QUESTION 1

On the FAS3xxx and FAS6xxx controllers, FCbased storage and SATAbased storage .
A. can be configured on the same storage controller, but must be configured on separate loops
B. can be configured on the same storage controller and mixed within the same loop

C. cannot be configured on the same storage controller, but on active/active systems, SATA storage can be configured
on one node and FC storage on the other node

D. can be configured on the same storage system, butsoftwarebased disk ownership must be enabled

Correct Answer: A

QUESTION 2

What happens to the SnapMirror function in synchronous mode when the mirror fails to complete in the specified
parameters?

A. The SnapMirror function stops.

B. The SnapMirror function becomes asynchronous.

C. The SnapMirror function drops the current blocks and continues.
D. The SnapMirror function switches to vaulting mode.

Correct Answer: B

QUESTION 3

Which two statements are true when consolidating Windows File Servers to NetApp? (Choose two.)
A. VSSinitiated snapshots on a home directory are supported.

B. Windows group quotas are not supported.

C. Windows Encrypting File System is supported.

D. NetBIOS aliasing is supported.

Correct Answer: BD

QUESTION 4
Which two features of Data ONTAP GX benefit digital content customers? (Choose two.)

A. faster backups withmultinode NDMP
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B. increased performance with transparent workload migration
C. largescale virtualization of thirdparty storage
D. high availability with transparent node failover

Correct Answer: BD

QUESTION 5

Which process accurately describes NetApp Snapshot copies?

A. copy incrementally changed blocks to secondary disk

B. copy all blocks to the Snapshot Reserve when snapshot is taken

C. store pointers to data block write changed data to new locations

D. store pointers to data blocks write original data to new location when changed

Correct Answer: C
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